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1. “Restricting the uniform motion of a particle in |5. the highest order spectrum that
a circle, the projection of the motion of the may be seen with a source of wavelength
partlc'le on the diameter of its circular path of 6 x 10 ¢m by means of a grating with
describes .

1200 lines per cm ?
(a) a linear motion.
(a) 2
(b) a simple harmonic motion. '
(b) 13
(¢) a damped harmonic motion.
() 20
(d) a damped linear motion.
(d) 50.

2. A chain is used to lower a block of mass m .
through a distance h at a constant acceleration 6. A “oamyax lens produc_es » real‘ VERAEN of o
of g/4. What is the work done by the chain on object placed perpendicular to its optic axis.
the block ? If the curvature of lens surfaces tends to

zero, then the image
(a) —mgh/4 .
(a) will disappear.
(b) mgh/4 _ :
(b) will remain the same.
(©) - 3mgh/2 (¢) will become virtual.
(d) —3mgh/4 (d) will have displacement defect.

3. Assume the Earth to be moving in a circular |7. In He-Ne laser, collision of He atoms in
orbit around the Sun. What is the work done excited state with Ne atoms causes
by the Sun’s gravitational force on the Earth S '
in completing half the orbit, equal to ? (a) population inversion in He atoms.

(a) Kinetic energy of the Earth (b) population inversion in Ne atoms.
(b) Potential energy of the Earth (c) Both (a) and (b)
(c) Half the potential energy of the Earth (d) Neither (a) nor (b)
(d) Zero '
8. Consider the following optical phenomena :

4. Consider a missile shot up from the surface of 1. Image formation of a point source by a
the Earth, in the vertically upward direction plane mirror.
with velocity v equal to escape velocity. Taking 2. Mirage formation in deserts.
the Earth to be a spherically symmetric object ) i of 1 .
with radius R, at what distance from the A‘;ﬁoidln% t;; theb prmcl};i 9. OF Jamat tlmlf ’
centre of the Earth will the speed of the Woiea, 4 € BRSO n e

1305 explained ?
missile be v/2 ?
(a) 1 only
(a) 15R &) 2 onl
on
b 2R 7
(c) Both 1 and 2
() 3R
(d) Neither 1 nor 2
(d) 4R
N-DTQ-K-RJA {2-A)
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L &0 @ vHeHH T B es ga A i a=a ge |5,
JABR T & AW W HUT B Md & 98w Far

e ?

(a) Y@ fa

(b) ¥Ra Fmad Tk

(¢) 3ramfed TReT ad e
(d) sravfea Y& of

2. @ H m® fis & g/4 & R @xor & h g
@ A & & fow ve SR @1 s fsar sar
2 1 39 fivg W S5IR gRT Pa o Far @ ?

(a) —mgh/4
(b) mgh/4

(¢) - 3mgh/2
(d) - 3mgh/4

3. W e & gl gd & oRi 3R vP JEeR wean
# e & 1| aneh wam B AR F vl W |7
& TOId §e1 gRT Pa S fowes awar & ?

(a) gt @ st Hat
(b) g & Refers =t
(¢) vt & Rl o=t &1 amen

WWW.jeywin.com

6 x 107% em TURES W9 ¥ 1200 3@ ofy cm &
e gRr ¥ Weagw & Jeaaw I T @ ?

(a) 2

(b) 13
(e) 20
(d) 50

UE 3T O 39 VPTG 38T &5 a3 e fig
& grdfee dfafem & ar @ | PR a9 gt @
T A B AR g At @, o wfofaw @
@1 g ?

(a) o« & smem
(b) ~ @@ & wm
(¢) 3R & Fem

(d) 3w fawemeT S g

He-NeﬁWﬁ,ﬁﬁﬁmﬁﬁﬂaHeW@!ﬁ
@1 Ne WA ¥ HugA, Far o & ?

(a) He WHANRH ¥ wHfte Gepaor

(b) Ne W # wnfte Fgepwor

(¢) (a)@r (b) 3T

(d) 4 (a) 3R TS (b)

d) T
8. FrafoRas weria wRuecanit w far S :
4. A Afw 5 oo an & R A v & gl & 1 awae ador gRT faeg e @ afofde < |
7S ¥ FEER W $ AR vF FENUTE Bt 2. W ¥ Frgen & e |
T | 3R gl @ B R @ v Melra i 3G BIeT-Fra B IR, I wRues F ¥
fiog wrT e, A gedt & wew fag @ et @ W fessa/famaT waediaor fsar s wwar & 2
yeyquie &t uf v/2 gt ?
(a) &ada 1
(a) 15R b) e 2
(b) 2R
(¢ 3R () 13K 22
(d 4R (d Ad1T8 2
N-DTQ-K-RJA (3-A)
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9. In Van de Graaff accelerator 13. A particle of mass M at rest, decays into two
(a) the maximum energy of the particles is particles each of rest mass m. What is the
d of each of th i ?
limited by the maximum voltage applied SPAREUE sach of L Al i
to accelerate the charged particles. (a) =&
(b) the maximum energy of the particles M
does not depend on the maximum
voltage applied. (b) cm?
2
(¢) the maximum energy of the particles M
depends on the initial acceleration
imparted to the particles. © c.h 4m?
(d) None of the above Mm?
2m
10. The primary function of electric field in the d ¢ 1- ™
cyclotron is
(a) to energize the beam. 14. When W joules of work is done on a flywheel,
(b)  to deflect the beam. its frequency of rotation increases from n; Hz
(¢) Both (a) and (b) to n, Hz. What is the moment of inertia of the
(d) Neither (a) nor (b) flywheel about its axis of rotation ?
W
11. How should a charge q be divided into two (a) 2] 2 32
parts so that the force of repulsion between 8n (nl +n2)
the two parts is maximum ?
(a) q/4 and 3q/4 (b) 2w
(n2 - n})
(b) q/3 and 2q/3
(¢) q/5 and 4q/5 © W
21:2(112 -n )
(d) q/2 and q/2 9 1
w
12. For which of the following magnetic materials @ 4“2(112 B n2)
is B = pH valid, where B is the magnetic 2 1
induction and H is the magnetising field and
W is nearly a constant for a wide range of H? |15 The velocity at the maximum height of a
(a) Diamagnetic and ferromagnetic projectile is half its initial velocity (u) of
materials only projection. What is its range ?
(b) Diamagnetic and paramagnetic (a) 3 u2/(2g)
materials only )
(c) Paramagnetic and ferromagnetic (b)  u/(2g)
materials only © 3u2/(2g)
(d) Diamagnetic, paramagnetic and
ferromagnetic materials (@ 3 u2/g
N-DTQ-K-RJA (4 -A)
y =
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10.

11.

12,

qS M @RA A

(a) ot B ftrean Fa, smafa ol B @Ra

@ & fow ang 1 dfteaw Awar g
it & |

(b) o & ftEaw FAf, @R T feEan
dea R R a@i & |

(c) Ui B ferdan Fa1t, Bl B vew IR
R ) Rk a1 @ |

d) Iw ¥ § P T

e ¥ faee &7 & e yord w2
(a) TEvorg=r @1 Fatf wem @A

(b) faRog= @ fawame &

(c) (a) @ (b) AT

(d Fd () FART (b)

U HAY q & & @vel H fow ver fawise fear
e, f& @ust & wen wferedor a@ siftraan & ?

(a) qf4 3R 3q/4
(b) qof3 3R 2q/3
(c) qf5 3R 4q/5
@ qf2 3R g/2

frafoRea gee wrt #§ fous e B = uH
w2, S8l B g SRoT @ a1 H graee &7 @

. au H & fovga oRer & fore p e Froeis & »

(a) et wRrgEd v ce-gEda e
(b) &aet wfogradia vd gD qaret
(c) & FTPEDIT U4 FR-gEDdI garf
(d) vRgEd, sEgEdd vd de-gEer gard

13.

14.

15.

(5 -A)

WWW.jeywin.com

form Rd geam™ M & 301 &1, s R geamH
m & A B0 A erg den & | 59 3w wof ¥ @
TS B el @ g ?

cm

(a) H
2
cm
® 2
2
() ¢ 1—%

2m
d 1~ —
(d) 01/ M

TS T W W joules & B & W ITTD!

Tﬁﬂlﬁﬁ‘lanzﬁW%HzB‘fﬂ?I
oo &7 & wne Mfuad b &1 g ol @ar
g7 ‘ s

(a)

(b)

(c)

b 41t2(n§ - nf)

gl B sftreem Fa W A Fas RS v
M (u) BT 3 | IAD W 1@ ?

(a) 3 u*(2g)

(b) u?/(2g)

(© 3u*/(2g)

d V3u¥/g
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16. The energy equivalent of neutron-proton (19. In the X-ray spectra of silver and gold the
mass difference is 13 MeV and the rest wavelength of K line of gold is
fnass energ?l Of,. elec-:tror-l is 0:51 MV What (a) smaller than the wavelength of L ' line
is the maximum kinetic energy of electron of gold. o
emitted in neutron decay ? :
(b) larger than the wavelength of L, line of
(a) 1-81 MeV gold.
(b) 13 MeV (¢) larger than the wavelength of K, line of
silver.
(c) 079 MeV (d) larger than the wavelength of L line of
(d 0-905 MeV it
‘ i 120, If le of tomi = 5/3) i
17. A particle of mass m with energy VO/Z o .on:;. H,l;e % molnoaf(;rfalfo gi:s v ( _/ 7)/51)5
encounters a step potential m}‘lxi 'w:h on;: v fe 9 ¢ :; mfitgas ';Y B ’
Vix) = 0 i 8 what is the value of y of the mixture ?
=V, forx=20(Vy;>0) (a) 125
What is the ratio of position probability ) 15
densities at x = 2a and x = a, with
h . () 20
a=s ———— 7
2n meo (d) 35
() 1/2 21. A quantity of heat AH is transferred from a
b) 1/e large heat reservoir at temperature T, to
9 another large heat reservoir at temperature
€ e T, < T,. The heat reservoirs have such
@ e large capacities that there is no observable
change in their temperatures. The entropy
18. A valid wave function of a particle mﬁst o Wo:amtire. syshem
satisfy (a) does not change.
1. Wave function must be real and (b) decreases.
single-valued. (c) increases.
2. Wave function and its first derivative (d) wvanishes.
must be continuous.
3. W:eve blfunction must be square g9  Tng rate of loss of heat by radiation from a
PRS- solid body does not depend on its
Which of the above statements is/are correct ?
: (a) temperature.
(a) 3 only
b) 2and 3 (b) surface area.
(¢) nature of the surface.
() 1and2
d) heat capacity.
(d) 2 only W) heat capaily
N-DTQ-K-RJA (6 - A)
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16. EAUGH & FONE R B Foll gedis |19.
13 MeV @1 gadgq @ foRm gemwm Fe
0-51 MeV & | =g & 3 Jewfora soag @
Aftrmaw 1os st T & 2
(a) 1-81 MeV
(b) 13 MeV
(¢) 079 MeV
(d) 0905 MeV

20.
17. TEEH m T S V/2 & 7 3 0F W v
fireran 2
Vix)=0 x <0 foe
=V, x20(V;>0 % forw
x=2a3ﬂ?x=a“ﬁﬂﬁﬂlﬁlﬁﬂmﬂ
~ h
aiaq'aama‘mr = ?
SIS 27r,me0
(a) 1/2 21.
(b) 1/e
(c) e2
(d) e

18. foeh wor & fore o R werw 3wy W W
1. R BEF A% aRalE® vd UHHE B |
2. T WO qUT $HDT W Jaders (G

g9y Had & |
3. &R BeH 3avd @i ueaaa & |
3§ B /Y s wd & 22.
(a) &ae 3
(b) 23R3
() 13R2
(d) &aw 2
N-DTQ-K-RJA (7 -A)

< o Tt & X-Ror Wagi # vt B K Y
A Ferded

Wl B L, [ @ e el |
v L, Y @ oo el |
T B K, ¥@r & wnded ¥ ad @ |
| @ L, a1 & aimeed § ad @ |

(a)
(b)
()
(d)

IR (y=5/3) & o W &1 s A
& = 7/5) & g o S e Bw ¥ A
fiar smer &, @ fasor & y @1 we @ @ 2

(a)
(b)
(c)
(d)

1-25
1-5
2:0
35

T, a99H R Rd v geq 350 5 # 3 AH 96
W, Ty < T, aH R Rd v 37 geq Fo
P ¥ siaRa & st & | I g B eRear s
3eq @ 5 3 A F @ denta oRadw @
A | st Frerr B e

(a) & qEentt |

(b) & & e |

(¢) dg Fme |

(d) e & e |

v 3w fivg ¥ fafdmor grr g s & el Ff )
fow w ameRa 78 et »

(a) <mHEE

(b) USRI &rwe
(c) U P wphe
(@ FE-eiar
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23. As the temperature of a body is raised, the [26. When a semiconductor is doped with a p-type
maximum energy radiated tends to be impurity, each impurity atom will
associated with shorter wavelengths. What (a) remain electrically neutral.

is this law known as ? .
(b) give away one electron.

(a) Kirchhoff’s law (¢) . acquire positive charge.
(b) Stefan’s law - (d) acquire negative charge.

(¢) Stefan — Boltzmann law

27. In an ihtrinsic semiconductor, the number of

(d) Wien’s displacement law charge carriers varies with temperature in

(a) a linear way.

24. (b) logarithmic way.
E (c) exponential way.
T i (d) square law way.
T |
© B Al ! : .
Z, ! ! 28. Light falls on a soap film of uniform
g E | thickness 1071 m. In reflected part, it will
= H i appear
0 1 2 (a) coloured.
Vinm? —> (b) black.
If the pressure (p) and the volume (V) of a (¢) white.

given mass of an ideal gas vary as shown in
the diagram, then what is the work done by
the gas during the process ?

(d) None of the above

(a) 2J 29. Which one of the following is not conserved in
uniform circular motion ?

b) 15J (a) Kinetic energy

(0 34 (b) Velocity vector

(d 44J : (c) Angular velocity

P

(d) Angular momentum

25. When a p-n junction is forward biased, the

flow of current across the junction is mainly [gg.  The escape velocity from a planet having

due to radius R and fixed uniform density is
proportional to

(a) drift of charges.
(a) R

(b) diffusion of charges. (b) R2

(¢c)  both drift and diffusion of charges. (0 R!

(d) depends on the nature of the material. (d) R?2

N-DTQ-K-RJA (8 -A)
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23. SR-3RY fivs & arom agran Star €, -4 39 (26, IR v NS IR B 3z & s fear
e fadnt sEf o, egR aoRet & sk ST &, A Se® UGS WA
wrafad 9 @ wgfa @t @ | aw Fraw Fn seemar (a) forge e <&m |

& (b) v A & 2 |
(a) frxaErs From (c) € AT WA R o |
(b) wWroH Fam (d) OT AL W H A |

(c) o - agaae fray a5 o v
27. Fefarers #, Y B < A
(d) 9 fommem Fram mmmmﬂéﬁ?ﬁm " -

(a) &g oy A

o (b) ciRepla wr ¥
(¢) TRuUME® 9y
d) o G og

28. 10710 m vEwmE Hier & o A e W v
gsal & | Wuafda wm #, ag w2

(a) <0 |
(b) TN |

V,miy
3R Tt foe e e @ sest & @ (p) 3k (C), e
g (V) o # cufe srwR feRa @ & @ (d) I F F B

wHH & 2R i g o mar et wr @ 2
(@) 2J 29. frafafea # ¥ o ve, vewwm afa ofy &
Wit T & 2
(b) 154
(a) Wi =t
(¢) 34J
W 4y (b) am wfew
(c) i &
25. 3@ p-n Y URR® agw & I & o wftr F al e
HRT JATE qeae: fdl aoe & drar & 2
" - 30. ﬁml;ﬂuaﬁﬁaﬁmgzﬁaaswug%
(b) el &1 fawRor (a) R
(c) 3Mawl @1 3Uare va faw=or 2t (b) R2
(d) e & gl |® PR Igar # (© R
(d R?
N-DTQ-K-RJA (9-A)
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31. A particle is executing simple harmonic |35.
motion. What is the nature of the graph of
velocity as a function of displacement ?

(a) Straight line
(b) Circle

(¢) Ellipse

(d) Hyperbola

32. A diffraction phenomenon is observed using a
pair of slits, each of width ‘a’ having spacing
‘D’ between the two with radiations of
wavelength A. If the distance of screen from |36.
the slits is ‘d’, what is the distance between
any two dark fringes ?

(a) 2rd/(a + b)
(b) 3Ad/(a +b)
(¢) Ad/(a+b)
(d Ad/(a-Db)

33. In Newton’s rings experiment, the radius of |37.
the tenth dark ring is found to be 6 mm, when
there is air between the convex lens and the
glass plate. If the air is replaced by a liquid,
the radius shrinks to 5 mm, which is possible
only for a value of the refractive index of
liquid equal to which one of the following ?

(a) 1-21
(b) 1-33
() 144 38.
(d) 1-50

34. Two identical particles move towards each
other with equal speed v. What is the velocity
of centre of mass ?

(a) 2v
(b) v
(c) v/2
d o0
N-DTQ-K-RJA (10 - A)
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A common-base amplifier wuses n-p-n
transistor. When the transistor is biased in
the active region, which one of the following
statements is correct ?

(a) Emitter and collector are both reverse

“biased.

(b) Emitter and collector are both forward
biased.

(c) Emitter is forward biased and collector
is reverse biased.

(d) Emitter is reverse biased and collector

is forward biased.

Three small spheres each carrying a charge q,
are placed on the circumference of a circle of
radius r such that they form an equilateral
triangle. What is the intensity of electric field
at the centre of the circle ?

(a) O

(b) 3q/r

() afr

d qgfr®

Let a long wire carry current I along

x-direction and the magnetic field B be in the
z-direction. What is the force on unit length of
the current carrying wire ?

(a) BI along x-direction
(b) BI along z-direction
(¢) BI/2 along y-direction
(d) BI along y-direction

For a current I along positive z-direction,
what is the magnetic field at (a, 0, 0) ?

I

0
a

=

-

(a)

[

(b)

(c)

Dream Dare Win
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31.

32,

33.

34.

N-DTQ-K-RJA

. U YT WA Iad N IR @ & | AR & wa

& WY AN P UG & WET T8 P
(a) WRa @m
(b) g

(c) driga
(d) sfawRaea

B gm &, Gl v B & dlerd @ qun
& W e b ¥, AN @R R,
wded A & fafemor grr faeds aRue @ dfae
fioar sman @ | o R ¥ & S @ @B, @
fes=el & s fibst & wer g @ & ?

(a) 2\d/(a + b)
(b) 3xd/(a + b)
(¢) Ad/(a+b)
(d) Ad/(a-Db)

YA gog A ¥, Twdl i g @ Brsar
Gmmqﬁaﬂ%,aﬁﬁﬁﬁﬂﬁﬁhlat%
gAY § | Ak 9 @ U gd g1 wherenfia ax
far s 2 ar Brsar wighe & @& 5 mm & s
2, 5 &1 59 & Ivadie » Frefefed § ¥ few
M & fore wwe @ 2

(a) 1-21

(b) 1-33

(e) 144

(d) 1-50

CHHH G v & &1 UHEHH U7 UH-gER B R
Thele & | cammE-Ss H AT R 2

(a) 2v
by v
(c) v/2
(d o0

35.

36.

37.

38.

(11 - A)

Wmaﬂmmp-nmﬁm

a1 & | I giforex B wipa &7 # aaw fear

S g, AR s R w2

(a) ISID U4 HURS 1 Iopiid aaw o & |

(b) %aqsim vd RS e kR auw A
|

(c) I3 IURRE T vd WUES Iophd
TE B E |
IS® Iapha G199 Ud WURS IMRRe
I 8§ |

YRS q AW TET B e a9 B T, r Bisan
T gD IR RIWyBR W & 5 3 v

wHaTg Pgst &t € | 99 & v W Rga-aa &
g @@ @ ?

(a) 0
(b)

() gqfr
(d)

(d)

H oo & e omar ar x-Ren ¥ axr 1 @
A1 & A FEdg &7 B, z-Rwm ¥ 1 | aRy 7w
T IR DI 3HIS oGS U a1 a9l B ?

(a) BI, x-fegm &

(b) BI, z-fEem #

(¢) BI/2, y-feem %

(d) BI, y-feen %

EIHD z-fRw # GR1 1 & fe (a, 0, 0) R grd
ATE?

(a)
(b)

(c)

(d) - j

Dream Dare Win
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39. 1Q 2Q 40Q 43. In deriving Planck’s distribution formula,
A —rn AN ANA—0 €
which of the following assumptions are
2
60 20 made 7
1. A black body radiator consists of tiny
B harmonic oscillators of all possible
10 20 40 frequencies, each oscillator having its
In the above figure, what is the equivalent own characteristic frequengy.
resistance between A and B ? 2. A continuous emission or absorption of
(@ 59 energy is allowed.
b) 4Q 3.  The energy is quantized.
) 250 Select the correct answer using the code
@ 19 given below :

40. For a particle of mass m in a state described (a). 1 and 3 only

by the wave function (in one dimension) (b) 1 and 3 only
¥ = A KX 4 B g ikx (¢) 2 and 3 only
what is the probability current ? (d 1,2and3
(a)  hk( |A|2 - IB|2)/ (2mm) 44. Two gases, nitrogen and hydrogen, are at the |
2 2 same temperature (27 °C). Assume both of
(b)  hk(|A]" + [B] )/(2nm) them to be ideal gases. Which one of the
L -+
(¢) hk(| A|2 + |B|2)/(4nm) following is correct ?

(a) The kinetic enefgy of nitrogen gas
molecule is 14 times that of hydrogen
gas molecule.

(d) None of the above

41. A particle of mass m is confined to a

1-dimensional box extending from x =0 to (b) The kinetic energy of nitrogen gas
x = a. Assuming that the particle is in the molecule is 28 times that of hydrogen
first excited state, what is the position gas molecule.
probability density at x = a/8 ? (¢) The kinetic energy of nitrogen gas
(a) 1/a molecule is 1/14 times that of hydrogen
®) 2/a gas molecule.

(d) The kinetic energy of nitrogen gas
© 1/(2a) molecule is equal to that of hydrogen
(d) 1/(4a) gas molecule.

42. Consider the following statements : 45. What is the expression for temperature at
Leptons are the particles which can interact which root mean square speed of hydrogen
via molecules is equal to the escape speed (v,)
1. Strong forces. from the Earth’s surface ?

2.  Weak forces. (a) Mv2/(3R)

3.  Electromagnetic forces. N

Which of the statements given above are (b) Mvi/(R)

correct ?

(a) 1 and 3 only ' (© 3Mv2/(2R)

(b) 1 and 2 only (d) None of the above

(¢) 2 and 3 only where M is the molecular weight of hydrogen
(d) 1,2and3 and R is the universal gas constant.

N-DTQ-K-RJA (12 - A)
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39.

40.

41.

42,

N-DTQ-K-RJA

1Q 2Q 4Q

6Q 2Q

B AAAA——0
1Q 2Q 4Q

3w fer #, Aden B & wear gear wfee @an @ 2

(a) 5Q

b)) 40

(e) 256 Q

d 1Q

W m & B & o T G Ber (v famr #)
Y- A eikx +B e—ikx

R aftTa srawen ¥ €, wiiiear aRT T 8 ?

(a) hk(AJ? - |B[%/(2rm)

(b) hk(JA* + [B|*/(2nm)

(¢) hk(|A|® + [B|*)/(4nm)

(d) 3I9GE § F PIg &

m@HHE & U &U ve 1o e A, S
x=0% x=ad® fawga &, afta & | 7 g &
BT wuH Ff saen # @, Ry wiiear v
x=aB RFTE ?

(a) 1/a

(b) 2/a

() 1/(2a)

(d) 1/(4a)

Frafafea oAl ) R i -

A TuT B € 3 saafihar AR wad @
1. Vad &t R |

2. gda 9@l R |

3. foga-geadr @i g1 |
I B A B W & 2

(a) ®ac 13K 3
(b) wawr 13K 2
(c) ®aw 23R 3
(d 1,23R3

44.

45.

(13 - A)

i o gF B e o<y #, PrefiRea i ¥

P arfirerRond & S € ?

1. o fifdwe § w wva smgfa & g smad
Aftm & S W Aftm & s
sifvenefors maf & & |

2. Fal & Had IS AT JARNT I & |

3. Foif Faifed & & |

¥ e g &1 wim &R a8 IR g

(a) ®add 13R2

(b) a@m 13k 3

(c) wad 23Rk 3

@ 1,23Rk3

A R, TRgIeH 3k TRgeE, wWH e (27 °C)
® & | 7= ofse & 1 ameef W & | Fr=foRes
H P oS R P

(a) g i 3ot & et Fat ggge W
it B st St BT 4R

(b) R R 3t & st S esgew
A B TS FA B 28 AR |

(0 g i soph & ot e aRgem
ot @ st FAf & 1/14 TR

(d) TR i sl & ofes it egem
ot @ ferst FAf F W # |

ar & foe ar ol @iee @ T W ergem
ot &1 @ we g A Yy A UerdH A (v)
WER & ?

(a Mv2/(3R)
() Mv2/(R)

(¢) 3Mv2/(2R)
(d) IGeH H A I3 QN

STET M gggie & 3] YR & vd R aidfe
feri® & |

Dream Dare Win
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46. The molecular collision frequency for a given |50.
type of a gas in a container of constant volume
varies as
(a) absolute temperature.

(b) square of absolute temperature.

(c) square root of absolute temperature.

(d) None of the above

47.

In the above circuit Vo = 2 volt, V = 2 volt.

What is the current flowing through the

diode ?

40 mA

A0 51.

(b) 20 mA

() 10 mA

(d) Zero

48. The electric field due to an infinite flat
charged sheet at a distance r (close to sheet) is
(a) proportional to r.

(b) proportional to r™1,

(¢c) proportional to r 2.

(d) independent of r. 52.

49. In p-type semiconductor, increase in dopant
concentration will
(a) increase the majority charge carrier

concentration and push the Fermi level
closer to the valence band.

(b) increase the majority charge carrier
concentration and push the Fermi level |53.
closer to the conduction band.

(c) decrease the majority charge carrier
concentration and push the Fermi level
closer to the valence band.

(d) decrease the majority charge carrier
concentration and push the Fermi level
closer to the conduction band.

N-DTQ-K-RJA (14 - A)

WWW.jeywin.com

A planet moves round the Sun. At a point P, it
is closest to the Sun at a distance r, and has
speed v;. At another point Q, when it is
farthest from the Sun at a distance ry, what is
its speed ?

2
r-v
1 1
(a) %
2
(b) I.1 Vi
)
2
s v
2 1
(e 2
1
@ 2N
n
An  object motion is governed by

A A
V = (cos ot)i — (sin ot) j . What is the speed of
the object ?

(a)
(b) 2w
(e) 0
(d 1

The area enclosed by hysteresis loop shows
(a)
(b)
(c)
(d)

Retentivity of the specimen.
Coercitivity of the specimen.
Permeability of the specimen.

Energy loss per unit volume per cycle.

The focal length of the more convergent lens
of a Huygens eyepiece is 0-5 cm. What is the
focal length of the eyepiece ?

(a) 133 cm
(b) 100 em X
(¢) 075 cm
(d) 033 ecm

Dream Dare Win 14
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46. 3R A uF ¥ & 7 yoR B T H opEeEA(50. W R W S IR IR W w e | g PR @
gt fews wrr-wry faRa @t & 2 WA Faear gl vy, RE AR T AT v, |
(a) W AN E I fog QR o 5 g & sfteean @ x,
(b) W AW @I aif W 8, ITBI A T & ?
(¢) WRH AN & I o 2y
y . 1 "1
) 3G § ¥ B @ (a) 2
47, R, v,
ANVA (b)
Bl 100 Q N "2
Vo — \Y 2y
:|' () 221
n
'L' @ 24
FR fae me aRay # V) = 2 volt, V = 2 volt. s/is 1
# ¥ &RT yarg a9 g ?
(a) 40 mA . .
() 20 mA 51. UF fvg & 1A V=(coswt)i-(sinot)j A
(¢) 10 mA fafa g2 |1 e Hraa s &
@ T (a) ©
48, U I WU AR de & BRoT gl r (3e & (b) 20
fde) W faga & dm (0 0
(a) r & FHEUR | (d)
(b) ! & wEEE |
o :—2-35 5| 52. e urer gRT WRag & Far TE @ ?
() ¢ <@ | (a) sl B GrorerT
(b) wfereef & Frnfear
49. pIBR F FefAEId A HURHS AT ¥ g@d (c) wicreef B grameierar
(a) WEHEIH HAY AED D KA TGN 3R (@) o o vfr o wfa s smaas
i wR & do d5 & e e |
b) agEe® Y RS B ar agE ik |53 T A & e e o & Brew g
. o w) & ae $ 5 Broe ane | 0-5cm%|#ﬁﬂﬁmﬁa§ﬁ§%m%?
(c) uEHETP AW aEd P wrEal gee 3R () 18wom
i 'R @ do dg & Foe e | (b) 100 cm
(d) TEEEIE AT AEH B AT gerEn 3R () 075 cm
Bl TR @ 9o §8 & Foe ada | (d 033 cm
N-DTQ-K-RJA (15 - A)
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54. Consider the following statements : 58.
For experimental observation of good
interference fringes, the interfering beams
should be
1.  coherent.

2.  of equal intensity.

3.  of same polarisation. .

Which of the above are correct ?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only 59.
(d 1,2 and 3

55. Two spectral lines are separated in
wavelength by 0-01 nm. The mean wavelength
is 500 nm. To resolve the two lines as
separate, the spectrometer must have a
resolution of
(a) 50,000
(b) 25,000
(c) 12,500
(d) 5,000

56. A point source of light having wavelength
6 x 107 cm is placed on the axis of zone plate.

If the radius of the first zone is 0-6 mm, then
what is the principal focal length ? 60
(a) 0-06 cm

(b) 06 cm

(¢) 60cm

(d) 600 cm

57. What is the half angular width of central
bright maximum in the Fraunhofer diffraction
pattern of a slit width of 0:0012 mm
illuminated by the monochromatic light of
wavelength 6000 A ?

(a) 15°
(b) 30°
(c) 45°
(d) 60°
N-DTQ-K-RJA (16 - A)

A proton and an alpha particle enter a
uniform magnetic field with the same velocity
perpendicular to the field. What is the ratio of
time period of alpha particle to that of
proton ?

(a) 2

(b) 1/2

() 1
(d) 4

Two charges mq and nq where m/n = -3/5 are
placed at two different points. If the electric
field at the point of charge mq is E, then
what is the electric field at the point of charge

nq ?
~»
(a) 3E /5
—>
(b) -3E /5
-
(0 5E /3
(d -5E/3
5Q 50
A AN AAAA D
+
59§ > §5g
2V
B AN ANAA/ C
5Q 5Q

What is the potential difference between the
points A and B in the circuit given above ?

(a) 2/3V

(b) 8/9V
(c) 4/3V
d 2V

Dream Dare Win
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54. Fr=fofEa ol ) far @ifse 58. &7 & TEdd UH WA auT U el U1 UHade
I aafaaor fissl & arifiie Seror & foe afery TEOI & W T I $ WY G A ¢ P
facongor & anfed UEBl BUT F HEG-BIA T W B HEd-Hd o
2.  §9H digar @ |
3. D ¥ gau @ | (w) 2
e # ¥ R R E (b) 1/2
(a) ad 13K 2 (€ 1
(b) ®ad 23R 3 (d) 4
(c) ®aar 13k 3
(d 1,23R3 59. < MY mq TN nq el m/n = -3/5 A fafim

55. o1 Wag Yl & aeree s 0-01 nm & | ﬁ@)wwélﬁmmqﬁ%wﬁm
wem FoRe 500 nm ¥ | 3 A Y@mi @ &7 E ® @ Mm% nq & fog W g & @
-3 TR & fore, ragrmdr o AT s e
it gt aifee ? \ @ 3B/S
(a) 50,000
b) 25,000 ) -3E /5
(¢) 12,500
@d 5,000 © 5E /3

56, TR 6 x 105 cm & yHE & S fag WA @ -5E/3
FH-UEET & T W @ 1T € | i weH ST P
Prsar 06 mm &, @ 7= wieww gl Far @t ?

60. 5Q 5Q
(a) 006 cm A AAANY —AAAA D
(b) 06 cm )
(¢) 60 cm y
(d 600 cm 59§ R gsn

57. wRE 6000 A & vHadll FHRT GRT WA B AR e c
0-0012 mm g & R & wE=Ewx fGad= e 5Q 5Q
& v A Sfeass @ ok Soha g T E 2 35 uRuy ¥ figalt A wd B & werr favarr @
(a) 15° e
b 30° (@) 2/3V
© 45° (b) 8/9V
(d) 60° (c) .4/3V

d 2V
N-DTQ-K-RJA (17 - A)
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61. Why is soft iron used in many parts of|63.
electrical machines ?
(a) It has low hysteresis loss and high T A
permeability. P
(b) It has high hysteresis loss and high -
permeability. A : C
(¢) It has low hysteresis loss and low v >
permeability.
What is the expression for change in entropy
(d) It has high hysteresis loss and low (S — S,) of a mole of an ideal gas (undergoing
permeability. the process as shown in the figure above)
having constant molar heat capacities Cp and
Cy?
62. What is the expression for work done by a \'A
Pp¥p
: . . (a) Sz-8S,=CylIn
system undergoing isothermal compression B TA hd pAv}L
(or expansion) from volume V, to V, for a
gas which obeys the van der Waals v
(b) S,-8,=C, in|PB B
equation of state B O T M v
PaYa
2
[IH%J (V = bn) = nRT ?
A% PV
(0 Sp-S,=vin |22
VY
PAYA
V, —nb 9 [V, -V,
(a) nRTIn |—=——| + an 2 (d) None of the above
V; ~nb Vv, Y,
v b V.-V 64. How will diffusion coefficient (D) and
) oRT I [t yand | T viscosity coefficient () of an ideal gas vary
V1 —nb V1 +V2 if its volume is increased 4 times
isobarically ?
% b v i (a) Both D and 1 will increase 4 times
(¢ nRTIn |—2——| + an? 1 3 : .
V, -nb v,V, (b) Both D and n will remain unchanged
X (e) D will increase by 8 times and m will
increase by 2 times
(d)  Neuceof Quesbee (d) None of the above
N-DTQ-K-RJA (18 - A)
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61. faga e & s st & fore f oher 7o g | 6. B
A e ?
(a) g P dMfea afy aon so grasdiean T A
21 P
(b) FEd @ e il aun s grEedeEr | N
21 A C
() 3w Fr= e aify aun fre grasdiear V—>s
¢ fer sfdas Fwn alRaé C, sk Cy ameh s
2 Uh Hier ¥ ge T 3R (S - S,) & fore aive
TR ?
Y
(@) Sp-8,=Cyln [pﬂzﬁ]
P
62. A AW R @R rcile
an® y
[D+72—J (V — bn) = nRT (b) SB—-SA=Cpln [pBX}:]
P
@ UeF A alel I & g B gEar gdET ik
(31T W) §RT V, ¥ V, d@ o A arr Frera VI
ERT B B ¥ e s FaT & 2 () Sg-S,=ylin P’ |.
L ' PAVA
(d) I9Gw #& & B E
—— V, —nb 2 (V,-V,
a n n Vl—nb + an V1V2 '
- 64. 3R TS HEY I BT AT qHArET 4 T GG
V. — i) (. e Se @ 366 faRRor nE (D) 3R v quie
(b) nRT In | -2 +an® | L 2 (n) & faaRa & »
V, -nb v, +V, |
(a) D3R n 2 4 177 7 N
V, —mnb 9 V1+V2 . ;
(c) nRTIn {Vl_an-t-an (V1V2J (b) D 3R n AH1 sfRafda & @&
(c) D 87T &g S AR n 2 T 9§ SO
(d) 39w ¥ B A& ) 3w § ¥ B A
N-DTQ-K-RJA (19 - A)
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65. A 68.
. —ie
D
B 69.
In the above circuit, if the inputs A = B = 0,
then what are the possible logic states of C
and D respectively ?
(a) 0,10r1,0
(¢) 1,1
d) N f the above
(d) one o "o.
66. R
15 mA
A \% A
| i
H :
V. =20V 5 mA V=16V
. G
i i
I |
v v
A zener voltage-regulator circuit is shown
above. What is ,the value of the limiting
resistor R ?
(a) 500 Q
(b) 250 Q
(e) 5kQ
(d 1kQ
71.
67. Energy band gap of pure silicon is 1-1 eV.
Which one of the following is correct ?
(a) If doped with p type impurities the
band gap is less than 1-1 eV.
(b) If doped with p type impurities the
band gap is more than 1-1 eV.
(¢) If doped with n type impurities the
band gap is less than 1-1 eV.
(d) If doped with p or n type impurities the
band gap is always 1'1 eV.
N-DTQ-K-RJA (20 - A)
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If the second order spectrum is absent in a
diffraction grating, then what is the ratio of
width of the transparency to that of opacity ?

(a) 1

by 2
() 1/2
d) 1/4

A form of spherical aberration in lenses is
known as

(a) Coma .

(h) Astigmatism
(e) Distortion
(d) Dispersion

Two beams A and B of plane polarised light
planes of
polarization are seen through a polaroid.,
From the position when the beam A has
maximum intensity (and the beam B has zero
intensity) the polaroid is rotated through 30°
to make A and B appear equally bright. If I,
and I are the initial intensities of A and B
respectively, then what is the ratio of I, to
Iz?

with mutually perpendicular

(a) 1
(b) 1/3
() 3
d) 3/2

Plane polarised light is passed through an
optically active liquid. The rotation of plane of
polarisation will depend upon

1. Wavelength of light.

2. Path length through the liquid.

3.  Concentration of the active solute.
Which of the above statements are correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d) 1,2 and 3

Dream Dare Win 20

Www.jeywin.com




Dream Dare Win

Www.jeywin.com

65. A»———D 68.
. C

—-=D
B

FR for o aRuar F, stk FRWTA=B = 0%, a1 C |69.
AR D & THIA a0 HHI T E ?
(a) 0,14r1,0

(b) 0,0

(¢) 1,1

(d) I F ¥ B el
66. R

>

jrls mA A 70.

-
g5 ----

QL-==~

S >R fava-Fdas & tRuy Fux fRamn mar € |

W wfRes RS o= qar @ ?

(a) 500 Q

(b) 250 Q

(c) 5kQ

(d) 1kQ

67. g Rfteq & Fof ufgem s 11 eV & |

g iy 2 ?

(a) 3R T8 p-YOR & 3zl ¥ snfufda e
Siar & dr ofgdr SR 141 eV & W &
Fo |

(b) 3R 98 p-NPR & gl & U fHar
Frar & o ufger sieaRE 141 eV ¥ e &
Fe |

71.

ot faad= Ien #F il P Ragw agufem 2,
A IuReRar & e ¥ R & disE @&
g 1 8N ?

(a) 1
b)) 2

() 1/2
@ 1/4

A=t 3 v wBR @& Mol Ry Far Sea @ ?
(a) ®mr

(b) snfemfesm

(c) ooy

(d) wadrfT

WER e wwaal § gfda, swda gfea s
2 faRogst A @ B, deRige gRT @ S E |
0 Refr @, Gl fvogsr A # siftrsaw daan
(qur faRomg=s1 B § g digar @), deRigE @
30° gAIAT ST € A1 A 97 B UHEWH & v
& | gk I, vd I;, RF A wd B & sRfw

- e & @ I, & I F e @@ @ ?

(a) 1
(b) 1/3
() 3
(d) 3/2

S FHAe gfdd Fee v gavr-uie @ # faR
WS ST & | A aq & goi PRk B

1. R @ wWRE |

2. @WH AW TER R

3. wfpa faerr & wmar ®

(c) 3R TE n-YBR & gl ¥ fufdm fear G § F o T R E 2
& @ ufEd IR 141 eV ¥ B A (a) ®ae 13k 2
S |
(d) 3R @€ p TT nYBR & 30ged ¥ mfEEa (b) #2303
fopa S & d R siaRTe g 141 eV & (c) Wae 13K 3
TR | d 1,23R3
N-DTQ-K-RJA (21 - A)
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72. ([-:ouo)'”2 corresponds to which “one of the |76. A harmonic electromagnetic wave in free
following ? space is described by E = E, cos (kx — ot).
) What is the flux density ?
(a) Velocity of light in vacuum
(b) Conductivity (a) cEnE§/2
(c) Resistivity 2
(d) Energy flux (b) cg, E0
73. The Q-factor of an LCR circuit in series is (¢) cEE 0/2
largest when 0
(a) the inductance L and capacitance C are (d) None of the above
both large.
(b) the inductance L is large and resistance 7.
R is small. lT "
(c) the capacitance C and resistance R are * pPtat |
both large. R E
(d) all the three are equal in SI units. o
N
74. In an AC circuit, an inductor, a capacitor and
a resistor are connected in series. If the Temperature T (K) ’
inductive reactance is 300 Q and capacitive The above graph represents the magnetic
reactance is 200 Q and resistance is 100 Q, property of the material as
then what is the phase difference between .
(a) Ferromagnetic
current and voltage ?
(a) 30° (b) Ferrimagnetic
(b) 45° (c) Anti-ferromagnetic
(¢) 60° (d) None of the above
(d) 90°
75. Imagine an electromagnetic wave in vacuum 78.
whose E field (in SI units) is given by
E (z,t) = 10® sin n (3 x 106 z — 9 x 101 1),
Ey = 0 and E, = 0. What is the magnetic field
associated with the wave ?
(a) Bx(z, t) = |
102 sin 7 (3 x 106 z — 9 x 101 1), L
B, =0and B, =0
¥ z In the above circuit, the values of resistances
(b) By(z, t) = R, R, _
102 sin 71(3 x 108 z — 9 x 1014 1), are such that —2 = E , where R, is the
B,=0and B, =0 internal resistance of the galvanometer. The
(¢ Bz t) = reading of the galvanometer
X ’
0-33 x 1078 sin (3 x 108 z — 9 x 101 p), (a) remains constant whether the switch K
is ON or OFF.
By =0and B, =0 _ . .
@ B.zt) (b) increases when the switch K is ON.
VA =
vy (c) increases when the switch condition is
; 6 _- 6, 14
033 x10" sinm(3 x10°z -9 x 10" t), changed from ON to OFF.
B,=0and B, =0 (d) always shows zero value.
N-DTQ-K-RJA (22 - A)
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72. (e p,) V2 Frefofea # fewd o & 2 76.
(a) Frafa ¥ warer & an
(b) dTeTdaT
(c) wfervermar
(d) FT TR
73. AofimH ¥ LCR wRuy &1 Quies 3iftrsa g 2,
5|
(a) R L agr enfRar C a1 g&q & | -
(b) Rdcd L g&q & a2 yforie R &g & |
(¢) enfar C aem ufekier R 21 geq & |
(d) SIzoEdl F 9+ & & |
74. 'S AC WRuy F ve Re, ve wuRT dU1 e
sferrer Sofien # ol € | af IRor-wfETa 300 Q &
aen enRRar-sfeama 200 Q 8 wd v Y 100 Q &, &
EIRT T dreTal A SR T & ?
(a) 30°
(b) 45°
(¢) 60°
(d) 90°
75. fafd § ve faga-geem =1 w R #itw
@ E &7 (S1 sorsat #) fean mar & 78.
E (z, t) = 10% sin 7 (3 x 106 z — 9 x 104 t),
E, =0 3R E, =0 @ 9 ¥ag g a1
FE?
(a) Bx(z,t)=
102 sin 7 (3 x 108 z — 9 x 1014 ¢),
B, =03RB,=0
(b) By(z,t)=
10% sin 7 (3 x 108 z — 9 x 101 ¢),
B,=03RB,=0
(¢) Bz t) =
033 x 108 sin n(3 x 10% z — 9 x 1014 ¢),
B, =03RB,=0
(d) By(z,t)=
033 x 1076 sin 7 (3 x 10% z — 9 x 1014 1),
B, =03RB,=0
N-DTQ-K-RJA (23 - A)
Dream Dare Win 23

oh R W e e fage-gae @i
E=Eocos(kx—wt)ERTEﬁlH?I Teldd 99
TR

(a) cE, Eg /2
(b) ce E2
(e) cEDED/z
(d) I9gw F & B &
. e
On

aq T (K) ——>

WH TH, W & fu gadr o B e
FRaT § ?

(a) we-gEda

(b) oY AE-gED

(¢) wft-AE-g@Ia (anti-ferromagnetic)

(d) IGE A ¥ P T

g dRuy &, siRual & W 3w e € B

R R w ]
-1 = 32 & R, il @& siaRs

R, Rg

aferer @ | feeiniex &1 uew

(a) R a1 w®a &, o' Reg KON ® a1
OFF ¥ |

(b) RET K& ON® R sgar & |
() Fau & Rufd ONJ OFF &3 R agar & |
(d) &N g A fwarar & |
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79. 81. For the hydrogen atom in the first excited
states with principal quantum numbers n = 2,
what is the number of states with total
angular momentum quantum number

Ey i=1/2?
(a) 2
(b) 3
(c) 4
(d 5
b ? 82. In a Compton scattering experiment, when
The maximum kinetic energy (E,) of emitted radiation with wavele_ugth A = hftme) is
i scattered backwards (i.e. 6 = 180) by an
photoelectrons against frequency (v) of !
incident radiation is plotted h e electron at rest, what is the total energy
e er.l PR Ie. lowed. &8 & owni ixa (relativistic) of the electron after the
What is the slope of the graph equal to ? scattering ?
2
(a) Charge of electron (a) 5mc/3
(b) 2 me?
(b) Work function of the emitter 2
(¢) 4 mc“/3
(c) Planck’s constant (d 3 mc2 /2
(d) Ratio of Planck’s constant to charge of where m is the mass of electron, c is the speed
electron of light, and h is the Planck’s constant.
83. If approximately 2 x 108 eV energy is released
in the fission of one U-235 nucleus, how many
80. Consider the following in respect of U-235 nuclei undergo fission in 1 second in a
Compton scattering : reaction operating at 5 x 107 watt ?
(a) 1-5x 1010
1. Compton scattering formula holds less B 15 x 1018
and less rigorously as we go towards
longer wavelengths. (€ 15 x 1022
(d) 15 x 10%
2. Collision between a photon and an
electron is inelastic. 84. A particle of mass m coming in from the right
with energy E encounters a potential V(x) = 0
Which of the statements given above is/are for x > 0 and E/2 for x < 0. What is the form
correct ? of the wave function for x < 0 ?
(a) 1 only (a) A omikx /2
ikx /V2
(b) 2 only (b) A e
A 1kx
(c) Both 1 and 2 () ¢ )
@) Aekx
(d) Neither 1 nor 2
where k = 21,/(2mE) / h.
N-DTQ-K-RJA (24 - A)
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79. 81. TG FCH WS n = 2 B TP TAN B
o Feifora araensll #, wyof Bofra Wam e
’[ @ j = 1/2 B st & den T @ ?
E (a) 2
) ® 3
() 4
(d 5
82, UP Prwe W wan ¥, 5/@ aveed A = h/(me)
v—> @ Rifewor ve frm g g, feier st
: S : . (37t 6 = 180) Bl &, A FATH S Wb B
37 e A S B St qwarq Gyl Sat (smifder) @ @ ?
s st (B,), Imfia ffdRor @t gl (v) @ @) 5
e IefEd £ | Te & e [HEe W # ? 2
(b) 2 mc
(a) I BT IR (© 4 mc’/3
. o (d 3 mec?/2
™ o S m JARA B GHHH, ¢ WP B 9N q47 h
() wis Reri® i Reris & |
(@) @is RRRi® B saaeH & AW & I g3, ok Us U-235 ARG B fA@ved ¥ @
2x103eV3Eﬁﬁ§?5§Té\"€l,a’T5x107watt
50, Bfmea sEV B v § Preffe w fax| W W sl ¥ R U-2ss Ao s
B - Jpvg foafsd da & ?
_ (a) 15 x 1010
1. 9 &9 d¥aR e & IR I € b 15 x 1018
Prea v T B9 ¥ H9 B uRgE '
ﬁmm%\ﬁ:gl (¢) 15 x 10%2
(d) 15 x 10%
2. WREH vd o & Hed Tad] S ardl
g 84, 2 IR A F31 E $ WY 3 m T&9H & T U1
@V =0,x>0 & foreawm E2, x<0
s ¥ B WA T 9@ E 2 sfefmarg | x< 0% fow & oA &
YT FE P
(a) &ad 1 _
@ (a) Ae—lkx/\[ﬁ
(b) Waa 2 .
(b) Aelkx/ﬁ
(© 13K 22 (¢) A e*™
(@ Aar1zRTE2 (d) A elikx
5@l k = 2n/(2mE) / h.
N-DTQ-K-RJA (25 - A)
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85. The efficiency of a Carnot cycle when the 88. In a Newton’s ring set-up, a transparent
hot body temperature (T,) is increased by x liquid of refractive index 3/2 is introduced
or when the cold body temperature (Ty) is in between the glass plate and its lens. The
decreased by y will be the same. What is circular area of n'P ring then
the relation between x and y ? )

(a) increases by a factor 3/2.
(a) y=x
(b) y = Tox/(Ty +x) (b) decreases by a factor 3/2.
(€ y= Tlx/(Tz +x) (¢) increases by a factor v3/2 .
(d) None of the above (d) decreases by a factor v3/2 .
86. Consider the following phase transitions : 89. In an experiment, a 2 em width diffraction
1. Transition of a ferromagnetic material grating is replaced by another one which
to a paramagnetic material at the Curie has twice the number of lines per
point. centimetre than the earlier one. How will
he di ti 2
2.  Transition of a superconducting metal the diffraction pattern be affected
into an ordinary conductor in the 1. Diffraction maxima will be of same
absence of magnetic field. sharpness.
Whicl? ‘of the above is/are second order phase 2. Spacing of diffraction maxima will
transitions ? .
increase.
(a) 1 only ) ) _
: ich of the statemen ven above is/are
Which of the stat ts gi b s/
(b) 2 only correct ?
Both 1
(c) oth 1 and 2 (@ 1 only
i 1
(d) Neither 1 nor 2 () 2 only
(¢c) Both 1 and 2
87. Conside‘r the' following statements about a @ Neither 1 nor 2
harmonic oscillator :
1.  The minimum energy of the oscillator is
I 90. A quarter wave plate is pasted on to a
plane polarizer such that the fast axis of
2. The probability of finding it is the plate is at 45° to transmission axis of
maximum at the mean position. the polarizer. The combination is placed on
Which of the statements given above is/are top of a shiny coin with the quarter wave
correct ? plate towards the coin. On looking
(a) 1 only (a) the coin will appear shiny.
(b) 2 only (b) the coin will appear dark.
(¢) Both 1 and 2 (c) . the coin will appear smaller.
(d) Neither 1 nor 2 (d) the coin will appear larger.
N-DTQ-K-RJA (26 - A)
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85, @GP ¥ 3@ a@ fvs @ awEE (T, x ¥|88.
e SaT 8, a1 5@ 9ia fUus &1 amHE (Ty), v
¥ UCET FET & A TS &aT (qer) @ g
%lx.’iﬂ?y'&i@ﬂﬂm%?
(a) y=x
(b) y=T2x/(T1+x)
(€ y=Tx/(Ty+x)
(@ 39 ¥ ¥ I TS
86. fr=feiaa smawen wEAvl W faar i : 89.
1. w0 fag | de-dada w@rll 31 sgesa
varlf # JHHOT |
2. gy &F ot sruRRefa # sifvere arg o
WIYR T W HHAIT |
e A W BN A Rl @ife s wwwo
g/E?
(a) &ad 1
(b) o&ad 2
(¢) 13k 2=
@ =ar1akad2
87. WX Jadl Aed ¥ gratua FrefiRed dUE |
faar e :
1. s @ g o I # | ».
9. WO WN W I TN P Wikear st
A & |
IR e T HE § B9 Ty ad &€
(a) &ad 1
(b) &ad 2
(¢) 1322+
(d FarT19&2
N-DTQ-K-RJA (27 - A)

TP g aord U1 H B We v 3 A B
e FEdHiS 3/2 @ UH UReE @ ufae fEar
el & | 9 ndl I6Y BT JASR SAB

(a) ToWb 3/2 ¥ @G S ¥ |
(b) U 3/2 ¥ UT IR |
(© T V3/2 ¥ wg g |

@ T V3/2 ¥ uT S |

e W 2 cm @ fdadw Wnw & vE =
fad= Afen &, G ofe SEnier i o =
TR et @ & T @, wieenfia fear smar @
frad= feam 5w woR wanfaa @m 2

1. fads fas a0 @ deoren & w@wW |
2. fagda s & R | Fe |

Iges FuEl § ¥ P /R /W AR 2

(a) &gt 1

(b) A 2
(¢ 13k 224"
d TdAr13IRITID2

ve uquler a¥T Qe @ 0P wHae gad W §
7R Rnemr T & & @ o i w, gee &
IR F& & 45° DU W & | 5 G Bl 0B
T Rias | 59 YoR @ s @ 6 agute
&1 @ e B e | @ |

(a) Foa®r gudien wid & |
(b) Feawr s werd @ |
(¢c) g senga Brer wara gnm |
(d) Pt snenpa a1 WA & |
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91. What is the phase difference between the two |93.
simple harmonic vibrations represented by
n
= i t + —| and
y; = a, sin [a) 4) n
Yo = 8, oS [mt - g] ?
Tn
y E
(a 13
(b) g
94.
n
c) =
‘ 2
L
4dH =
(d) 12
92. Two masses m and M are initially at rest
at infinite distance apart. They approach
each other due to gravitational interaction.
What is their speed of approach at the
instant when they are at a distance d
apart ?
1
1y2
2G(M2 + m?2)2 95.
(a) |——————
d
1
2GMm |2
b — et
) (d(M+m)J
1
( 2G(M+m))§
(c) —_—
d
1
GMm 2
d e oiraci O
@ (d(M+m))
N-DTQ-K-RJA (28 - A )

The acceleration of a particle (a) is related
to its velocity (v) by a = —2v. What is the
nature of velocity-time curve ?

(a)
(b)

Linearly increasing

Exponentially decreasing
(c)  Exponentially increasing
(d) Linearly decreasing

The kinetic energy of a satellite of mass m
in its orbit of radius r around a planet of
mass M is given by

GMm
2r

(a)

GMm
r

(b)

B GMm
2r

(c)

(d)

None of the above

A collision of two objects occurs in an
inertial frame of reference A. It is also
observed by an observer in another inertial
frame of reference B moving uniformly with
respect to the frame A along the z-axis.
Which one of the following is correct ?

(a) The momentum is conserved in both the
frames but the energy may not.
(b) The energy is conserved in both the

frames but the momentum may not.

() Momentum along the z-axis only is
conserved in the two frames.

(d)

Both energy and momentum are
conserved in both the frames.
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. ™) s 93. U® HU & RO (a) B IS AN (v) ¥ wEH
- yl:alsm(‘”uﬂ a=-2ve | dn-wma am B wph FTE ?
y2=a2cos(mt+%]§mﬁ“6ﬁ?f?fwm (a) ﬁm’aﬁtgﬁ
& % T SR TaT | ? (b) TRUTdD TeAl &
@ = (c) TREM® ag g
12
(@) aww ved g
(b) % .
94, Mwﬁwwﬁmm‘rﬁmaﬁm
() % T&T ¥ T m gEEH & IYUE D At Forl a4
g
T
(d) E (a) GMm
2r
oy S
92. WRR® W s@wn ¥ 3 g@mE m 3R M 3= r
Q@ ® & | 7o Idfpar & BROT Al otk
TR B WG I BE E | T@ T TSGR © =g
¥ d T R E 39 GG I INHT G T8 ?
b (@) I A I B T
1y
@ 2G(M? + m%)* 95. U T i B A ¥ 2 Rugh & zamx A
d ¢ | @ YeUT UB NS ER1 UB I SR
frder 9 B #, 37 W A B N 2-387 W WHHA
& nfaher &, o e sar & | FeeafeRea § 2
1 e e A
®) (ZGMm )2
d(M +m) (a) 2 pul ¥ WA W dar & w"eg FoN A
M A THNE |
2G(M+m)% (b) T Bl F Fort e A & g waw A
) ( d ] N D TP E |
) (c) < put § WM Faw z-e Few F WwiEa
GMm )2 dard |
(@ [d(M+m)]
(d) 2t § T vd w3 S wRfdm @ € |
N-DTQ-K-RJA ( 29 -A)
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96. Two identical drops of water fall through air |99.
each with a steady velocity v. If the two drops
combine to form a single drop, then what will
be the new terminal velocity ?

(a) 2v

(b) 2%y
() 2By
d 2¥y

97. Two sources of sound produce progressive
waves given by y, = 6 cos (100 nit) and
¥g = 4 cos (102 nt). Which one of the following
is correct ?

(a) An observer hears 4 beats per second
and the intensity ratio of the two sound
waves is 3/2

(b) An observer hears 2 beats per second |100.
and the intensity ratio of the two sound
waves is 9/4

(c) An observer hears one beat per second
and the intensity ratio of the two sound
waves is 25/1

(d) An observer hears one beat per second
and the intensity ratio of the two sound
waves is 9/4

98. What is the moment of inertia of a cylinder of
mass M, radius R and length L about an axis
passing through one of the flat faces and
perpendicular to its length ? 101.

MR g

(@) —|—+=

2| 4 3
2 2
2-1°2 3
R? 38
. - T
(c) { 1 '8 J
2
@ Migz,L
4 3
N-DTQ-K-RJA (30 - A)

An ancient building was known to have
been built 2900 years ago. Approximately
what proportion of C-14 atoms are yet in
the building’s wooden framing, compared to
the number which were present at the time
of its construction ?

[Half life of C-14 is 5800 years]

[Take e* = 1 + x]

(a) 035
(b) 0-50
(c) 0-54
(d) 065

As per Bohr Model, what is the minimum
energy required to remove an electron from
the ground state of a doubly ionised Li
atom ? (Z = 3)

(a) 1224 eV
(b) 40-8 eV
() 136 eV
d) 151 eV

Consider a potential barrier of width L and
finite height U. For a particle having

‘energy E (E < U), whose wave number

inside the barrier is k,, the transmission
probability will be proportional to

(a) o T EN

) e 2kl

(c) e—k2L

(d) e—2k2L
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96. A UHEH FA B g IY H YAS UH AR a7 v ¥ |99,
firdt & | ot 291 §¢ Frerex va g @9 o o
3t & @ @ ?

(a) 2v

(b) 228y
(c) 2Wy
@ 22y

97. @i & 2 W Wl o IaOw &S & S
¥; = 6 cos (100 mt) FAT y, = 4 cos (102 nit) F &
BE | FeftRadi oo g e
(a) ©F J&d 4 fovu=e wftr Jpvs Foar & an A1

eaf R &1 digar s 3/2 @
100.
(b) s Ve 2 fovome wfd Awvs Foan & qan A4
A a1 g 3EaE 9/4 €
(¢) Ud Yew ve fawo gl ddvs Gar & aqun
2R @ i & dEan s 25/1 &
d) s Yee ve faw ufd deog g @ @
21 e adt &1 Saer e 9/4 &

98. g@WH M, fisar R @ @@ L & 969 &1 39D
wue RR I TeRA a1 $HS Ty & enaaq I8
& N S5 amgef @ & ? 101.
(a) M{—IEE-+L—2]

214 3

M(R? 172

) 3[?*?}

2 2

(c) M(RT+—L§-]

2

(d) %[R2+£3_]
N-DTQ-K-RJA (31 -A)
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vd WHdE wad 2900 3 ud faffa fear mar an,
wa @ | Feior & W waw & oo dieet §
JufeE & W B geen #, C-14 WaOET @
e T s 3 o e @ 2

[C-14 & 3rg-3mg 5800 af &)
[M3E X = 1 + x]

(a)
(b)
(c)
(d)

0-35

0:50

0-54

0-65

R dfse & IER f-amaf@ Li wem (Z = 3)
@ Freram s v goagH el 39§
fore fsart =gem Tl o smavasar @ P

(a)
(b)
(c)
(d)

1224 eV

40-8 eV

136 eV

1-51 eV

e L vd FRea Fu U & fRwa e w=
frar @f5e | 33T E (E < U) & &0 & foe,
ot M1 & IR W wE ky B, TRIAA
e fews smgufas anf ?

(a)

(b)

(¢)

(d)

~ikoL
e 2
—2ik,L
e N2
—k,L
e k2

-2k, L
e 2
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102. Consider the following statements in respect |104.
of Stern-Gerlach experiment :

1. Stern-Gerlach experiment demonstrated
wave nature of matter.

2. A beam of neutral silver atoms was
used in Stern-Gerlach experiment.

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

105.
103. Consider the following statements in respect

of Zeeman effect :

1. Each energy level in the atom is split
into just three levels which are equally
spaced.

2. The spacing between split levels is
directly proportional to the applied
magnetic field.

Which of the statements given above is/are

correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

N-DTQ-K-RJA (32 - A)

U-235 and U-238 decay with lifetimes
(average) p and q respectively. At t = 0
there are an equal number of the two types
of nuclei, N;(0) = Ny(0). At time t, the ratio
of the number of these nuclei is

Nl(t)/NZ(t) = e, What is ‘a’ equal to ?

(a) (p-qfipg)
b) (p + q)/(pq)
(¢)  1/(pq)
(d) None of the above
p n
|
X i~~ ++i
== ++i
1 1
I P

In the diagram of the space charge across a
p-n junction as shown above, the region X
has

(a) wuncovered donor impurities and mobile
electrons.

(b) covered acceptor impurities and mobile
holes.

(c) uncovered acceptor impurities and
mobile holes.

(d) covered donor impurities and mobile

electrons.
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"ol wam & def § Fefefed sut w
frar $ifswe -

1. "AWE W 3 g @ a-ud @
zgiar |

2. WAMES wOM ¥ FRA [A RAVPH &
fRomg=st &1 sudn fsar ma |

I YA F B W FE /E ?

(a) Wae 1

(b) &adA 2

(© 13K 22+

d Far1z3rRad 2

e whE & aR o FreafifEe sl ) fER
HfT

. wEe # s S @R S A Wi A
fawes B &, 3 99H IR R T |

2. fowe 33 ®RI & 7@ =R IIGH
GBI & & FHAI ¢ |
I duEl § B AR wE E ?

(a) &ad 1
(b) &ad 2
() 13k 22t

d Far1sdaRaIT 2
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(33 - A)

33

U-235 @1 U-238 ®Wer p W q Sad-om@
(3itra) & WY & @&Rd & | t = 0 W, AF FBR
& e eewa @& #§ € N, (0) = N, (0).
Wt W o3 WS @ s @& s

N, (t)/Ny(t) = e 8 | ‘o’ f5ud | @ ?

(@ (p-q/lpq)
® (p + q)f(pq)
(¢) 1/(pq)
(d) IGHE H | IS T
P n
X i—- ++i
. Py
==+ 4

pn I & FR-UR FRIGRN &« & I9YH
¥ IRE $, &7 X A

(a) g arn Ifedr vd Afcreie saag € |
(b) 3mga W argfet va wiwehe A & |
(c) 3mga TR srgfeat vd fereler @t & |

(d) Fga rar el vd e gaagE & |
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106.

107.

Two thin positive lenses are placed at a
distance L apart. If the focal length of each
lens is f, the combination will have negative
focal length when

(a) f<L < 2f only.
(b) L <fonly.

(¢) L > 2f only.

(d) None of the above

A He-Ne laser light is used for producing the
diffraction fringes by using a grating of 15,000
lines/inch. If this grating is replaced by
another grating of 20,000 lines/inch, the
fringes

110. An image of an axial point source is made

(a) will become broader.
(b) will become narrower.
(c) will disappear.
(d) will remain same.
108. One of the important considerations in the
design of a microscope or telescope eyepiece is 111.
(a) correction for longitudinal chromatic
aberration only.

(b) correction for lateral chromatic
aberration only.

(c) correction for astigmatism.

(d) correction for both longitudinal and
lateral chromatic aberrations.

109. What is the approximate distance through
which movable mirror of a Michelson
interferometer be displaced for 2000 fringes of
the yellow sodium lines of wavelength 5893 A
to cross the centre of the field of view ?

(a) 06 nm
(b) 12 nm
() 6 nm
(d) 12 nm
N-DTQ-K-RJA (34 - A)

with a parabolic mirror which is front
coated. The image will be free of which of
the following ?

1. Chromatic aberration

2 Spherical aberration
3. Coma
4 Astigmatism

Select the correct answer using the code
given below :

(a) 1and2
(b) 2and3
(¢) 1and4
(d) 2and4

A harmonic oscillator with mass m and
force constant k is subjected to an
A sin (ut) where t is the
time variable and A, u are constants. What
is the
resonance 7

external force

value of u for which we have

1 [k
(a) 5 E
® 2 X
m
(C) L
m
m
d —
(d) k
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106.

107.

108.

109.

N-DTQ-K-RJA

& OIS Uan o I A L W@ € | afk
TR @ B Be g f &, A TaeE B Blew
T FOTHS B, T

(a) &ad f< L < 2f

(b) ®aa L < f.

(¢) ®ad L > 2f.

(@ IGE F A B A&

15,000 Y@/gw @ WMem & wAm FA g
He-Ne @R ¥orer gR1 faad= fibst wia & s
# | ot g8 w ve 3= 20,000 ¥@W/FTT B
Afen ¥ gea & s, o ot

(a) aiftre it & smem |
(b) 3t wael & S |
(c) 3gEa & sma |
(d) &S

e gaeEl a1 guedl @ e & Remge #
Heraqol faarme= @t ¥ ve &

(a) ®aa e aof famem & fore o

(b) * Faet ured aof famem & fore gfix

() st & foe gfs

(d) 3 vd ured aof fawer 2 & fore g

AREAE eI & g ey @ fawnfia
o & for amm g @ @nft, s fore s
5893 A @ dreht Wifdaw @i & 2000 kst 3w
& &6 % B IR BN ?

(a)
(b)
(c)
(d)

06 nm
12 nm
6 nm

12 nm

Dream Dare Win

110.

111.

(35 - A)

35

vE Heg fag W & widfee v wada ador
), S 3w feefm & s mn | wRfas
frafofaa & ¥ 7 & 5w & 2

1. aof fauys

2. T fauem

3. @m

4. fenfEs

A i e g &y &) wE IR g
(a) 13R2

(b) 23R3

() 134

@ 23R4

Z@WH m U 99 Fadie k & vS W smadl
Ae® W A sin (ut) I8 &, @l t 999 & I
A, u 3R €, @ ST & | u B A F4r @,
forae foe & s fevm 2

(a) % 3
b 2/X
© Y=
(d) %
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113.

Frame F’ moves with speed c/2 along the
x-axis with reference to frame F, ¢ being the
speed of light. The clock at the origin of frame
F’ and moving with it, shows time t’' = 0 when
it crosses the origin of F. What is the time
shown by this clock when it is at a distance x
as observed in frame F ?

(a) x/e

(b) V2 x/c
© x/(3¢)
d 3 x/e

A capillary tube of radius r and length L is
horizontally connected to the base of a vessel
of cross-sectional area A filled with a liquid of
density p to a height h. Assuming that liquid
flow is streamlined, what is the time required
by the level to fall to h/3 equal to ?

(a) (8 nLA (In 2)1/ [nrpgl
(b) [8MLA (In 3)] / [nrpg]
() [8nLr (in 3)] / [nA%g]
(d) [8nLr (n 2)]/ (nA%g]

WWW.jeywin.com

Directions : The following five (5) items consist of
two statements, Statement I and Statement II. You

are to examine these two statements carefully and

select the answers to these items using the code given

below.

Code :

(a) Both the statements are individually
true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually
true but Statement II is not the correct
explanation of Statement I

(c) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true

116. StatementI: In  Young’s double slit
experiment light waves
emerging from two slits are in
phase.

Statement II : In  Young’s double slit

114. The radius of the first Bohr orbit will be experiment set-up the two slits
smallest for are on the same wavefront of
o the light wave emerging from
(a) He i
the same source equidistant
(b) H from the slits.
(C) Li+++
(d) Be*** 117. St T .
. atement I: Resistivity of a semiconductor
decreases as its temperature
115. What is the electric flux through a cylindrical increases.
surface of a cylinder with radius R and length
L, kept in a uniform electric field E ? Statement II : The rate of collision of
(a) nER2L conduction  electrons  with
' atoms increases with increas
(b) 27ERL ) ' ¢
in temperature.
(c) 2nER?
(d) Zero
N-DTQ-K-RJA (36 - A)
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112.

113.

114.

115.

N-DTQ-K-RJA

B9 F & ame B F, x-31er feem & am o2 A
el €, el ¢ v & A @ | B9 P H |
fog W @ e ud S TEE WY TN &, W
t' = 0 T &, 57T 7' B9 F & 9@ fag R @t
2 | gg o T wwg @i, SW 9 @ x W
enft, ot 3w F o e @ 2

(a) x/c

(b) V2 x/c
© x/(J3¢
d V3 x/c

fisan r wd T L @ vl SR Al 06 IRy
P &FBA AT, i p G hFAR O M@ F
vH UF & eR F dftsi J9 E | 7@ vEE @
aR1-RE A gL % WX @I h/3 9@ fiRA & e
|9 &1 8N P

(a) [87MLA (n 2)]/ [nripg)
(b)
(c)
(d)

[8 nLA (In 3)] / [nripg)
(8 nLr (In 3)] / [nA%g]
[8 nLr (In 2)]1/ [nA"‘pg]

yon @R wer @ e fews foe =g & 2
(a) He*

(b) H

(e) Li***

(d)

Be+++

veanH fagq &7 E & w@, ot R vd e L &
A & AOOR Aag ¥ e} faed v Fa
amm ?

(a)
(b)
(c)
(d)

nERZL
2nERL
2nER?

R

Dream Dare Win
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116.

117.

Prder : fFEffRea  dfg (05) iR ¥ @ duw £

o I 3R du7 II | 37 aFl & @1
wIaeIgd® GREmr o iRk 3 geien & W
e far M g @ wergar @ gfw |

g

(a) <FI oY «@fear 9g &, IR @ 10,

T 1 BT FEl WEIDIT & |

(b) 2F B wfes v € feg ®wF 10,
B 1 &1 a6 W 7@ & |
() @ 19 2 fog o 1139 & |

(d) o913 ¢ fog d 1w 2 |

s On R wm F @ R /¥
forfa werer a3 v dem F B € |

Y1 :

an FRR wam uewor §, 2
FRdl, BRdl & ewwm gh a@
e da ¥ Frfa vew a3 & e
& T R Ry 2 €

HTII :

e faes & WhResa ged @
Y- 9P a9 dear & |

DI :

e 11 :

wEURE ¥ T oG d TaER B
W aw ¥ gfg & we agdr & |
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118. Statement I :

Statement II :

119. Statement I :

Statement II :

N-DTQ-K-RJA

A particle with energy less |120.
than the height of the potential

barrier can cross the barrier.

This will violate the law of

conservation of energy.

For a streamline and steady
flow of distilled water, the sum
of the pressure and the total
energy per unit volume at any
flow |

two points along the

remains the same.

The sum of pressure, velocity
and elevation heads maintains

a constant value.

(38 - A)

Statement I :

Statement II :

Two

reference,

of

moving with a

inertial  frames

relative velocity v can be

by the

Lorentz transformations :
t’=Y( . ﬂ), X' = x,

c2
Y =1y-wb), 7 =z,

2
where 72 = [1 - V—ZJ

C

related following

The velocity v lies on the

xz-plane.

Dream Dare Win
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120.

118, #o7l: fRwa W & I ¥ w9 Fol: IS W ov ¥ TR & seda
Fot & eF BT IS B IR IR e W @1 FeefoRea dRew
Hod & | TUfeRYT RT whatea fbar s wadar
g
@YTI: T FoN & Wew Frawm & 3w t’=y[t_"_y), X =3
& | ¢?
y’=Y(y_Vt'}§ Z’=Z,
2
S!E’Tv%[l—?lz—)
[
119, $271: Jd I & GR-XE q>T FURIA
yare & foe, wae & fodl < famgall FYTI: & v, xz-a0ad F ar & |
R, TE qu wfa @ e wwt
ot &1 AT TP & @ & |
FYFII: TE, 9 e I|E I F Am @
feR 7= & @ar & |
N-DTQ-K-RJA (39 - A)
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SPACE FOR ROUGH WORK

P M & fore "

(40 - A)
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SPACE FOR ROUGH WORK

o= oM & fore shE

N-DTQ-K-RJA {41 - A)
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SPACE FOR ROUGH WORK

o= oM & fore s

(42 - A)
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SPACE FOR ROUGH WORK

o M & fore sFE

(43 - A)
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59 a@ sl a7 Gevr gRaer @i @1 T o8 e a9 a® T @i

AHHM : N-DTQ-K-RJA e gRew g

m:aiwvél

e gRa®
Hiferat

B s

10.

g

oia 7R B & R a), A9 6 waor JRast B ugare savd ax @ & el o e em, wa
o1 G I IS el v At 7 @ | afk i 2, a 52w wheor gRast | w@w @i |

TR A T ®H R wWeor gRas1 350 A, B, C a1 D quiRefy W w9 § geax e |

9 Wiewr §Ras W Ay # ke T B # st 30T
FgRie fore § | wieor gRae R 3k po T ford |
79 weor gRasr # 120 e (7e) e e € | e weee &= 3k sish F v # | v weAie
mumﬁﬂ;(m)ﬁnm%lﬁﬁﬁwmawﬁ%ﬁm_m-wmaiﬁﬁmmélaﬁ
I v @ 5 e ¥ st gegeR W € A 39 URgeR @ difed SR S 3nue watew e | s
e & foe daw o & SR TR |

II@T AT WA TR I A fw e IwR-wEe W # 3ifed A € | IwR-uae 7 Re e P dRaw |
F e & 37 WA € |

O Uga o5 3y wrerr gRae & fafte weRiell & TR IR-TEIe W sifea &R gF R, IS e
oo & A M seEl & AR 96 i swR-wme # e € |

Y JT W TGTRI B IR-UAS H WA & AR a1 W S T R FFer IuR-0AS Heverd B A
3 | MU I A wreroT gRAdT o ST @ SR & |

T P & fore v wieor JRast & 3 F e € |

e FERI & fre avs -

TR weA-wEl d Infiear R Re e Tea IRl & fore qvs R smem |

() W% ¥ & for IR dofue R € | WiER gR e wee & foe Re e ve e 3w & e
we vq Fraa fie e siet &1 ew-fe (0-33) avg & w0 F Per SE |

(i) Rk P INEER v A e IR AT 2, A 3 T IR TET e, ga e oI d ¥ e
TR W A &, R o 39 wea & fore IvdereR & 6 aRe @1 avs R e |

(iii) afE InfeaR grRT B 9o g el foar sen 2, srufq Infiear Rt I & far srard, o 39 v
& fore o1 vs =& e smem |

'maamyga#mgﬁawa}a#aﬁammaaaa#aﬁ

Note : English version of the instructions is printed on the front cover of this Booklet.
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